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PHKM-U-MCH

MECHANICAL ENGINEERING (PAPER-I)

[Time Allowed : Three Hours | [Maximum Marks : 250[

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)
There are EIGHT questions divided in two Sections and printed both in HINDI and in
ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which

must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Wherever any assumptions are made for answering a question, they must be clearly indicated.
Diagrams/Figures, wherever required, shall be drawn in the space provided for answering the
question itself.

Unless otherwise mentioned, symbols and notations carry their usual standard meanings.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer (QCA) Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. (@) TF 2 m @ a9 450 N 35H &I B8 ot W 94 T SR W @ B | 3661 g0 BR T

¥ Irafred 2, @ W 200 N 1 9@ @ @1 ) ¥ & T =aam 10 o 71 e 88 q:
w9 % o= w1 Wit oo oI 044 R

200 N
B
1m
1m
Be=0-4 — 450 N
d o,
7777770

A rod of length 2 m and weight 450 N rests on ground at one end. The other
end is supported by a cord through which a force of 200 N is applied. What is
the minimum angle o for which equilibrium is possible? The coefficient of static
friction between the rod and the floor is 0-4 :

200 N
B
1m
1m
ng=0:4— 450 N

(b) T MR H gl 15 m 701 =@ 20 mm 2, R 389% I Bt = wumw srene wew 2
W % R F #= F 125 kg F THi=d 3A9F @@ B AR E =200 GPa &, @ 3@h q™
gt @ ARl

A shaft of span 1'5 m and diameter 20 mm is simply supported at the ends.

It carries a 125 kg concentrated mass at midspan. If E =200 GPa, calculate
its fundamental frequency.
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e i =@ % A Bl WD AR SR @ e R 3R 18 mm e F T A A aee
T iRl A o T R S R Ry e e # gufan ) 2 B vee w1y @ w9 R S @
o =@ & #1§ wioma 7 8 3@, T2 B AR A gEEa ¥ -y Tw W R A w9 e
S R =@ R diee #§ fawfa e wfoeat i o Hifv) s o qfe F 9 A
F99: 200 GPa 991 105GPa § :

e mﬁa@m—\

14 mm 20 mm )

s

1A e, 12 mm ™
e—— 120 mm ——)

Two thick washers are placed on the two ends of a copper tube and a steel bolt
of pitch 1:8 mm is made to pass through these washers as shown in the figure
below. The nut is tightened first with hand so that there are no stresses in the
tube. Now, the nut is further tightened with the spanner through one-fourth of
a turn. Calculate the axial stresses developed in the tube and the bolt. Young’s
modulus values for steel and copper are 200 GPa and 105 GPa, respectively :

Washer Washer
Copper tube
14 mm 2p mm" ) )

Steel bolt, 12 mm dia

e—— 120 mm ——3|

gaa Yaem 9@ (CCT) M@ Fl Tg™ar ¥ hifas diaeq & 6 e hifvig a1 gqe6
e YA SO0 & HoRIeol d9 ITER § «digy)

Explain critical cooling rate using continuous cooling transformation (CCT)
diagram and write its importance in hardening heat treatment of alloy steel.

% THha faferet yemmht 9 it 1fd 250 rpm, ¥ 300 mm, TEAFTH WP H FEEH
60 kg A9 150 mm fisan @ oot st &1 5=mm 50 kg ®1 AR A-foerd yewmdht v sk
wft goff writ A wgfera fFn s &, @ () 400 mm A B W avEE g FEEE iR
(ii) %% % It Frvarew ffy (20 22 dxX) ¥ 60° i R afie swgiea sa@ J@ AR

A single-cylinder reciprocating engine has speed 250 rpm, stroke 300 mm,
mass of the reciprocating parts 60 kg and mass of the revolving parts 50 kg at
150 mm radius. If two-thirds of the reciprocating parts and all the revolving
parts are to be balanced, find (i) the balance mass required at a radius of
400 mm and (ii) the residual unbalanced force when the crank has rotated 60°
from top dead centre.

10

10

10
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2. (a) fie A, Baw C, % o %59 100 N, 200 N @1 150 N %, 9 zwif organr 2 #) af
e faam & fufa @ 9 e sg, @ 7 a1 1 s & 9% ;=0 Am? frfat semm W g

Bodies A, B and C of weights 100 N, 200 N and 150 N, respectively are
connected as shown. If released from rest, what would be their respective
velocities after 1s? The pulleys are massless :

V/171117171717171777/777774

20

(b) T Tg-RafTet T F T T% F o Fd-mpt s wen ekt s@-ml W F W ek
99 e 7 &, st -30, +360, -250, +300, -300, +250, 380, +260 qUT ~210 mm 2
%1 S@EiR M 1 mm =600 N-m 991 &fos 391 1 mm = 5° #| 9@ 1 I=E=w @e i
F +1-5% % Hifd st 7% 250 rpm B f & werd # ofefim wfme 10 N/mm?
Hiftd R ST8 a1 el F WMTE B T WEQ g 9erE 9% 6 KA H I9YH AW ad
TR F12 1a IR ’F  gered 1 v9ed 7200 kg/m> ) fw hi e H 3w AR A
IR A °4E )

The turning moment curve for one revolution of a multicylinder engine above
and below the line of mean resisting torque are given by -30, +360, =250, +300,
-300, +250, -380, +260 and -210 mm 2. The vertical and horizontal scales are
1 mm =600 N-m and 1 mm = 5°, respectively. The fluctuation of speed is limited
to £1-5% of mean speed which is 250 rpm. The hoop stress in rim material
is limited to 10 N/ mm?, Neglecting the effect of boss and arms, determine the
suitable diameter and cross-section of flywheel rim. The density of rim material
is 7200 kg/m3. Assume width of rim equal to four times its thickness. 20
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() AR FE T F FEAH 1:992x1072° kg TN WHHE HREH (FF) TE (a)
3-57x10710 m &, @ =E 6 AfFET ggan awn AT o ya Hifg) wEq H ea T
F T € (SEe Ffew) T i)

Calculate the packing efficiency and packing density of carbon if mass of
carbon atom is 1-992 x10726 kg and unit cell side (a) is 3:57 x 1071% m. Assume
crystal structure of carbon as diamond cubic. 10

3. (a) =T g F g wR g e, B 56 ompl oma 9 g T E) 2w A ik BW wd
m%:

+800 N-m s
K
A, B
-1600 N-m

-1500 N-m

-2300 N-m

| 3m |
@

Show the loading on the beams corresponding to the bending moment
diagrams shown below. The beams are simply supported at A and B :

+800 N-m _parabolic
/

A B
-1600 N-m
L 3 m L 3m |,
1 1 1
@
A B
-1500 N-m
-2300 N-m
%
|: 3m |
@ 20
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(b) TH JFAHR W F ff9 § 250 mm AW F TF MO 38 B T8 W W x 3R y Rt A

(c)

FAY: 20 MN/m?2 @1 10 MN/m? v & @) wer daaq vead Sioae o @ &1 56
a1, 7-5 MN/m 2 qftEmr &1 1qeqo gfvee 39 @t SR gadl | &6 & 2, 9 ® g
yfteet wF Far @ (AR R 1 fm A Waw) | Nerer 37 dega F TR #§ fFFa @ S )
I vt &1 4 H9iH 210 GN/m? a1 Wt g 0-3 &, «t 4 3iv g w1l A Hamgat
I Hifg ¢

410 MN/m?2
7-5 MN/m? «
- y
""T\ 250 mm
20 MN/m?2 < -~ »20 MN/m?2
\ | ’
N s\~l“lll
y
» 7-5 MN/m2

¥ 10 MN/m?

A rectangular plate with a central circular hole of diameter 250 mm is
subjected to two mutually perpendicular direct stresses of magnitudes
20 MN/m? and 10 MN/m? along the x and y directions, respectively. In
addition, a shear stress of magnitude 7-5 MN/m? acts on all the four planes on
which the direct stresses act (see the figure below). The circular hole is
deformed into the shape of an ellipse. If the value of Young’s modulus of the
material is 210 GN/ m? and Poisson’s ratio is 0-3, find the lengths of the major
and minor axes :

A 10 MN/m?
75 MN/m?2 «
A
/_.r 250 mm
20 MN/m? < gl »20 MN/m?
\ | ’
\ \‘~1—/’/
y
» 7-5 MN/m?

VL 10 MN/m?2

fafte whR & ooral AR A () T F TR, (i) GEW WA AT (i) T I F IR W
go i)

Compare different types of cast iron in respect of (i) form of carbon, (ii) micro-
structure and (iiij) mechanical properties.
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4. (@) TH TEG TER F TAF S F G5 20 N 71 90 Hh ofioR H Feaiwr aun Qe genadt
#) Tl FAM: 125 mm 91 65 mm &1 99 % iR F FesEd, 9OH AE ¥ 100 mm
A gt W @ ) ael H Aftpan au Zgaw i Bt 125 mm 70 80 mm §, @
Haftr wqer Wil $W: 325 rpm 91 300 rpm ¥ | &M i ggan qun Iwh! Fge T I
Hf, @ i B 100 mm #)

A governor of Hartnell type has each ball of weight 20 N and the lengths of
vertical and horizontal arms of the bell crank lever are 125 mm and 65 mm,
respectively. The fulcrum of the bell crank lever is at a distance of 100 mm
from the axis of rotation. The maximum and minimum radii of rotation of the
balls are 125 mm and 80 mm, and the corresponding equilibrium speeds are
325 rpm and 300 rpm, respectively. Find the stiffness of the sbring and the
equilibrium speed when the radius of rotation is 100 mm. 20

(b) = e F gwie e wiiE @ 9 B ¥ 1 m g R fEer y@ i) o wEd
faftr & wam AR g@ R Rew FE g 06 MN-m? R :

15 kN 15 kN
: 20 kN/m
ATRA # kRB
06 m L 1:2m |, 1:2m l,
1 1 1

Determine the deflection at a point 1 m from the left-hand end of the beam
loaded as shown in the figure below. Use double integration method. The beam
is having a constant flexural rigidity of 0-6 MN-m? :

15 kN 15 kN
' 20 kN/m
ATRA . TRB
’[L 0-6 m ’IL 1:2m ’IL 1:2 m 20

() T TR A A R S 6 5 o lelen (i) Y T A
g 1ot 3R AN H FAE

Enumerate different types of cams and followers commonly used. State their
relative merits and demerits. 10
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@is—B / SECTION—B

5. (@) T& %A AR F1 IR VAT 910 B 40 m/min ) Fd9 10 Y 7 % e Ren sman )

(b)

(c)

S -31g Fefie & i SR F vad ¥ fRRIS ¢ a1 n F FHG: 300 AU 0-5 A §Y
AR-3g A e & 3@ A 2R wd1 Tl B 80% A seE S, @ hem A oy A
yfawra sqema feferg)

A cutting tool is used to machine alloy steel at cutting speed of 40 m/min.
Considering the values of constants ¢ and n for cutting tool material as 300
and 0-5, respectively as per tool-life equation, calculate the tool life in minutes.
If the cutting speed is increased by 80%, then calculate the percentage change
in tool life.

fagu: (Wige-z-wige) Frifm NC aef ¥ Rw At H fifdn vdewfiica 3°/9e0 21 sum ¥
# = 24 mm ) sgmia Ruf-Fuaio wdea @ Hifig)

The stepper motor of a point-to-point controlled NC machine has specification
sensitivity of 3°/pulse. The pitch of the lead screw is 2'4 mm. Determine the
expected positioning accuracy.

% 8 B i A Rl # Fm FA arch & P, Fieyl (FHERIE) F 0 G H 9@
Fh 28000 A AR F I Fll ¥1 T8 TSGR F1 ITA0 Hih G oIeH F TR
=% WY <l AT IR | =@ @mge % i % g 6 wrEt A sravaswar B 2 o s -am
F AN 10 FHE F W ¥ IURA b @ W B Q@A F g e s 6
HEEHA 2, IR I FRiEwE § FEl B A & A fwey 27

A factory working in two shifts, each of 8 hours, produces 28000 tube lights
using a set of workstations. Using this information, compute the actual cycle
time of the plant operation. There are 6 tasks required to manufacture the tube
light. The sum of all task times is equal to 10 seconds. How many workstations
are required to maintain this level of production assuming that combining of
tasks into those workstations is a feasible alternative?
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(d) T HR FH HE T A0 A T ¥ A geH w1 I@ w2 A PR ol =

(e)

(W ) AT I A1 ¥ WA S Y §) geE i aifie \in 2500 sied R
A sgfddl § € 1,250 wf afem A R A 77 95g @led ¥ FEH F omgEE 2 R A Q
STl ARt 20 wfowa wfa g wfe o el st B @ @ 1,200 R st @ S
mﬁzsoﬁamm%wqﬁaﬁwmaaﬁﬁaﬁmwm%mmaﬁq?
IS A FA A T R7

A car manufacturing unit uses large quantities of a component made of steel.
The demand is continuous and inventory planning could be done independent
of the production plan. The annual demand for the component is 2500 boxes.
The company procures the item from a supplier at the rate of € 1,250 per box.
The company estimates the cost of carrying inventory to be 20 percent/unit/
annum and the cost of ordering as ¥ 1,200 per order. The company works for
250 days in a year. How should the company design an inventory control
system for this item? What is the total cost of the plan?

29 498 H 7Y F 7=\ F Ay Raehdt % o Pt 3 e A @t B ywfe =@ 9@
FR! F T F AT 0 TR STgEam w6 e ) 3o e sem $ 9, sEEuE
w4 1 frerd Frepren 6 win ot # afranfya St A wem 1w W Waw Bod 21 @ gROn
% IR R A= @ aferem F e, SRR we ¥ omawda 8% A T R W E, W
SR FF IR A AN F qEigEE TR F R @ wed R

afaaTted Raeiit #1 afr
(X) ¥)
200 - 165
235 184
210 180
195 145
225 190
240 169
217 180
225 170

10
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A manufacturer of toys for children in the age group of 2 to 4 years
commissioned a market research firm to understand the factors that
influenced the demand for the product. After some detailed studies, the
research firm concluded that the demand was a simple linear function of
number of newlywed couples in the city. Based on this assumption, build a
model for forecasting the demand for the product using the data in the table
given below, which is collected from a residential area in a city :

New Marriages Demand for Toys

(X) Y)

200 165
235 184
210 180
195 145
225 190
240 169
217 180
225 170

6. (0 TH T We ¥ WIARY (wifes) wowh, R wva '@ 300 MPa R, 400 °C W

aRIe ¥ Terd ¥) aRFuw 1fd 300 mm/s ¥ afRFwR wBFE 50 mm =@ 3R 300 mm
o ¥ frde W A S R 9@, e $1 = 50 mm ¥ 20 mm TF A @ | T8
g 5 aRFe ufem win ®a ¥, Tl fgh (99), ohea awafen el s
afedum 9at 3R aftdwm ¥ dm fele W e T # fuifa fifve) e w1 Tt =1,
afedem ¥ e sifom =m § Tga e R

A perfectly plastic material having yield strength of 300 MPa is subjected to
extrusion at 400 °C. The extrusion speed is 300 mm/s. The extrusion process
is done on billet of diameter 50 mm and length 300 mm. Extrusion reduces the
diameter of billet from 50 mm to 20 mm. Assuming that the extrusion process
is frictionless, determine the true strain, average true strain, ideal extrusion
force and work done on billet during extrusion. The initial diameter of billet is
significantly greater than the final diameter after extrusion.

PHKM-U-MCH/29 10

10

20



(b) & favriia R # sEge R A wen F Afwe N aiferw # @R W €, S 300 MM
(WTgst) F 20 T F fog # ) b Atwst F o uw suge Friw 91 sage) fRd ot P
¥ TR o w1 et fdva sro f saefy & w9 3§ g9 o1 g R, qeger feE dme

! wnifta iR :

T HGE TEH! I GEAT TG 3HgE TEF! I G
1 10 11 6
2 i2 12 19
3 8 13 10
4 9 14 | 7
5 6 15 8
6 11 16 4
7 13 1T 11
8 10 18 10
9 8 19 6
10 9 20 7

VAU H A ® TR s ® 2% R, w6fe @ wE % anuR R e e s A
Fa=m i 6 = fvm @ @ ) @ W gwa {1 fF Fdafal f sgaa @ w
Ha &7

The data for the number of dissatisfied customers in a department store
observed for 20 samples of size 300 are shown in the table below. Construct a
suitable control chart for the collected data. Any out-of-control situation may

be treated as the presence of some assignable cause, accordingly revise the
control limits :

Sample | ™ & omers | Sample | " & omers
1 10 11 6
2 12 12 19
3 8 13 10
4 9 14 7
5 6 15 8
6 11 16

7 13 17 11
8 10 18 10
9 8 19 6
10 9 20 7

Management believes that the dissatisfaction rate is 2%, so establish control
limits based on this value. Discuss whether the department can meet this goal.
What actions would you recommend? 20

PHKM-U-MCH/29 11 [P.T.0.



(c) JIT woreh & =arg e fifie R & weki A gt 99 A @t yare Afmm & F gS gu e

List down different types of wastes indicated in JIT system. How are they
connected with flow layout? 10

7. (a) WY TF AEH wdq B o {, R w4 1fa 120 m/min, R AR SO 5° 7
Fdq A el 5 mm 21 FH 04 mm W@ Sew (Fa) Y1 Fa } au g T Tw@ 30
TR S HAM: 600 N 71 300 N 3eq= ear #1 formn %2 farw 6t e 0-2 mm #a ge fw
Herd U, a0 ot qu Rg-oieR % i adu B @ FA § it gE I, N FA Haq Al
Fai % gfowa § |, I Hifvw)

An orthogonal cutting of metal is performed using cutting speed of 120 m/min,
tool rake angle 5° and width of cut 5 mm. Cutting produces chip thickness
0-4 mm and generates main cutting and thrust forces of 600 N and 300 N,
respectively. Considering uncut chip thickness as 0-2 mm, calculate the chip
thickness ratio, friction force and percentage of total cutting energy used to
overcome friction at chip-tool interface. 20

(b) T F TR W@ M1 a9 M2 ¥ iRk 3R el A Fe w1 S A v FE At
T H W A6 W A B

yfa 27 92 & &=1 719 () gfafeq sfirEan
el ¥ fafe ¥ 39ycteyar ()
= W M1 6 4 24
Fo W M2 1 2 6
gfe 27 @ (¥) 4,00,000 3,20,000

T TR G3em A g Ga & 6 ol 2 R e i, et e Hi dfw A d 1 = @
Aftres 7€ B T 71 Wy € 3tiakes T2 R fteman A win 2 @ ¥) FR i ol wred
¥z &1 Siggaad 3are o Ruffa wen Ted @, St 3o e am R sl ® sggae
T W Ropf i, TR @ wed, z =480000x; +320000x, F AftEwFHF R
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A company produces both interior and exterior paints from raw materials M1
and M2. The following table provides the basic data of the problem :

Raw Material per ton of Paints (tons) Maximum Daily
Exterior Paint Interior Paint Availability (tons)
Raw Material M1 6 4 24
Raw Material M2 1 2 6
Profit per ton () 4,00,000 3,20,000

()

(@)

(b)

A market survey indicates that the daily demand for interior paint cannot
exceed that for exterior paint by more than 1 ton. Also the maximum daily
demand for interior paint is 2 tons. This company wants to determine the
optimum product mix of interior and exterior paints that maximizes the total
daily profit. Comment on the optimal solution if the objective function is
maximization of Z =480000x; +320000x,.

TR AN YOSl % HH-HH ¥ T &7 UrEdl arTd el | U g e wer e
Bt 77

What are the elements of a quality costing system? How does an organization
benefit from a quality costing system?

I9YH ARG H FeEa ¥ fggq freww wfia (EDM) & frgia i samen $ifg) fergg e
TefiA 6t gfseen et (Yied) 1 as wfrn evia stfteen, S o gard gumm X, U
IR (Tatm) au wadt APEE, | I I UNET H qUHA HiRg |

Explain the principle of electric discharge machining (EDM) using suitable
diagram. Describe the effect of process parameters of electric discharge
machining on process performance characteristics such as material removal
rate, tolerance and surface characteristics.

Xyz frm 3 gt awan, fsht qun wve f Frafafes SHek wem i R

(i) BSE &WaT = 100000 T

(ii) T F TAAH TR W, THh GUEAT F HINE 66 Wh-334 {65 H1 50% @
(iii) PR WS P/V AW = 25%

(iv) 9@ ¥ | TG &Ha1 10000 THE B

(v) T3 T € 40 wfi 3% @

IR THER F YR W, Fh-3a4 fag foht it wen #, fOr avm, whadfa arme sfa i
AT THE W G H A Jra hIeg

20

10

20
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XYZ corporation has given the following information on its capacity, sales and
cost :

(i) Current capacity = 100000 units

(i) At current level of operation, its margin of safety is 50% of its break-even
point

(iij) Contribution margin P/V ratio = 25%
(iv) The unutilized capacity at present is 10000 units
(v) Sales price is ¥ 40 per unit

Based on the above information, determine the break-even point in sales
volume, fixed costs, variable costs per unit and margin of safety in units.

(c) T %ot wfd 9eR § v ¢ glam (SRl wnf @ & = wEdt @ ok glw & @
TR ¥ fou afda IR § v IugE TWH T STed B gemes § 9R amgfd g ® A, B, C
3R D, st 7€ glaw ¥ fow y= fRw wem w0 wfim IR #1 o A-amnh B ek,
foret g 9m amyfd fogedt % gt fdwie % Wiy v ¢ gl =1 g s =T €, R e e
o & zwien 0 R T gl & g @ @R faged @ anfs smgfd s 200, 450, 175

q°qr 350 A R
A
(g i e 1 §)
o T
" A @)
500
- g A (125, 550) 200
T 400 ©- B (350, 400) 450
D,
300 C (450, 125) 175
s Es D (700, 300) 350
100

100 200 300 400 500 600 700

—> =

TeTHYY 3 Hied 1 TAN W T8 ghaw w1 g1 we & fog e amfe § wed g fig
#H vgmm fifv)
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A company is interested in locating a new facility in a target market and would

like to know the most appropriate place in the target market to locate the
facility. There are four supply points A, B, C and D in the locality which will
provide key inputs to the new facility. A two-dimensional grid map of the target
market in which we would like to locate a new facility along with the distance

coordinates of four supply points is shown in the figure below. The annual
supply from these four points to the proposed facility is 200, 450, 175 and

350 tons, respectively :

YI

600

500
Units

T 400

300
200

100

®A

(Distance coordinates
are in brackets)

Supply | Coordinates Annual
Points (Units) Supply (tons)
A (125, 550) 200
B (350, 400) 450
& (450, 125) 175
D (700, 300) 350

100 200 300 400 500 600 700

Identify the most appropriate point in the grid map to locate the new facility

using centre of gravity model.
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